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%141 5241 E3H 44 5 HA 55 6 HA 574 8 HA
Al — - — mHE. ftt ZE EE EE rx
B1 - - — B/, ft zZE EZE EZE i
c1 - — - At -Fm Nt -Fm At -Fm At -Fm ANt -Fm
D1 - - - ToEHY-, fth ToEHY-. b zx =X E=E
E1l — - - mHE mHE i3] hHE hHE
A2 — - — mHE. it zZE EE EZE rx
B2 - — — T/H)- zZF =X zx =X
C2 — - - ToH)- ToH)- ToH)- THEHY)- =X
D2 - - - T/EHY- T/EHY- T7E1Y- T/} zx
E2 — - - HE HE EE EE rE
A3 - — - T/H)- T/ T/t T/EH)- T/}
B3 — - — x¥E ®¥E ®¥E *K¥E *¥E
C3 — — - TE wE wE TE EE
D3 - - - NN Yagh, fth | n-n Y9k, fth | n-n Yadh, M | n-n Yadh, M | n-n"Yadh, fte
E3 — - - MR, ft R, ft s, ft s, hHE. it
A4 — — - Tx Tx Tx EE EZE
B4 - — — zZx =X zZ =X Ex
C4 — — - TE wE wE TE EE
D4 - — - S, ft X EZE X mE
E4 — — — X i i EE EZE
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Al wE EE EE EE EE EE rx
B1 wE X X X X EZE EZE EZE
C1 wE E=E EZE E=E EE E=E TE EE
D1 mE TE TE TE TE X TE EE
El mHE e 3] g3 S EE EZE EZE rE
A2 wE X X X X EE EZE E=E
B2 wE Tx X 2x Tx E=E EE EZE
C2 wE EZE EE E=E E=E E=E TE EE
D2 wE ZE TE TE TE EZE X EE
E2 wE Tx TE LE LE EE EE EZE
A3 ToEH)- 7o) ToH)- T/H)- z=x =X =X =X
B3 wE X X Tx Tx EE EE EZE
C3 wE rE TE TE % % 2 EE
D3 N=n"Yagh, ft N=n"Ya9h, fth n=n"Yagh, fth zE EE zE EE EE
E3 wE X X Tx i EE EZE EZE
A4 wE Tx Tx Tx Tx EE EE EZE
B4 wE Tx TE TE TE EE EE ZE
C4 E=E EZE EE TE % % % EE
D4 wE ZE TE TE TE EZE X EE
E4 w=E X X X i EZE EE EZE




